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32.Which machinery is used to produce the electrical power?

A.Generator

B.Air compressor

C.Steering gear

D.Winch

33.The ignition delay associated with fuels of low ignition quality results in a late and more
explosive start to the combustion period, which results in higher peak pressures and
consequent rough and noisy operation. Therefore,

A.the ignition delay could increase the mean effective pressure of cycle

B.the more explosive start to the combustion period due to ignition delay could generate
the higher peak pressure

C.the ignition delay associated with fuels of low ignition quality is beneficial for engine
performance as it results in higher peak pressures

D.the ignition delay associated with fuels of low ignition quality could alleviate the noise
generation

34.1f the inlet-air pipe of the starting valve is hotter than its counterparts, what is the correct
maintenance work for this valve?

A.This starting valve shall be cooled.

B.This starting valve shall be renewed.

C.Additional lubrication for this valve is needed.

D.This valve is operated at the normal condition. No maintenance work is required.

35.Which level of the temperature of scavenging air needs to be maintained to prevent
corrosion by condensing acid liquid?

A.The level above dew point.

B.The level above flash point.

C.The level above boiling point.

D.The level above ambient temperature.

36.The increase of compression ratio of a gas turbine with Brayton cycle will increase the

A.fuel consumption

B.isentropic efficiency

C.cut-off ratio

D.thermal efficiency

37.Check valves must be provided on pump suctions to prevent pumping through the standby
pump to the sump. Pump isolating valves should be provided to permit underway repair of
either pump. Based on these descriptions, which is the correct statement?

A.The isolating valves must be non-return valves.

B.The check valve also needs to be positioned at the pump exit in order to improve the
pumping efficiency.

C.The check valve allocated on pump suctions permits no flow from the idle pump into the
sump.

D.The check valve allocated on pump suctions permits the isolation of the running and
standby pumps so that the isolating valves could be ignored for the emergency
operation.

38.Which type of marine propulsive engine is particularly suitable for merchant ships due to its
structure simplicity and fuel economy?

A.Diesel engine

B.Steam turbine engine

C.Gas turbine engine

D.Gasoline engine

39.Which operation is necessary to enable new piston rings in a diesel engine to wear

and conforms with the cylinder liner after an overhaul?

A.Underway

B.Progressive acceleration

C.Running-in

D.Maneuvering
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